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FEANER G N 1 10, 738, 180
ERKERETC A = 1
EHERETC 3R AET NAERK km 6.76
WEREREC e km 4.35
EREREC it e km 4.35
EHERETC  FHEXER km 4,35
JERFRENC MR ERK, km 4.35
TEKER R C YRR B 1R K 2
TEMERETC  BAMIXERR (B — W) km 4.35
EHEREIC  REXERK km 4.35
EREREC HEAKERE km 4.35
PR ETC  HoREE (R km 4.35
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EAIEREE (P A)  (lERLEREHR) = 1 2, 263, 386
P ARG 3 WoTHAET MERR km 0.59
P ARxEt  FxEHETE km 0.59
P A%El  Fm - #HtlrakEt km 0.59
PA#&:EF 1.5 0 0 FrX{ER km 0.59
PAZKE 1.1 00 0 FmEXIER km 0.59
PAKE 1,/200 ZEMFmEXIER ¥ 5
P ARG “FHEBIZXEAR km 0.59
P ARG HEWTE{ERR km 0.59
P ARG IEYERENT I {ERR 54 1
P AR BRMTEfERR km 0.33
P AEt  HHEKERE km 0.59
P AgkEt HERtHE km 0.59
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BFFHY TEREt  SEMNIXIMERRSE 35 Ettnaka IR X fEk 4 4
BT TEREE  SEMP{ERRSE {}i % BA M A VBB 54 2
Bt Ta% 3t LCEHEKEE B km 0.29
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T HEs 0 X ERR = 1 1,913,925
TR EAKEER XEEEA 4 9
TR EAXKmEER X#EEEB 54 53
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TR SRR N 1 1, 089, 229
THREARERESR THENYRRERIEE i+ T km 4.94
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A atIT et = 1 427,632
BREHT A = 1
HAN SRS - BT
HEEEs - EERE =, 1 120, 326
TR A X mE A ER  dE AR TR B et = 1
AmE - HY - miRE GREHITAE) 2V 1
A5mE - B - fi5iAE (BIHUESAY) = 1
Z DA Y 1 10, 290, 906
— R FL A A 1 15, 887, 085
fau:is = 1 45, 410, 000




